[ Efficiency vs vertpos |

—0.05 : :

9.0458- - : PR e

2 : E :

20.04f1 {114 SRS | EERE SRR

(8] . . .

@.035 A rHE : 3 S PPPPP

5} : : :

£0.03
0.025
0.02
0.015
0.01
0.005

Of
E:

&

ne
T
i

Ratio

0.9fH- +f-{+-

0.8fH -1

0.70 : :
1072 107 1 10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd __,__ pQM_V0001_R000000001__Global__mkFitNewBinsDC1000time_ RECO

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
%

0.8

Ratio

0.6f : i R I O :
-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1

>
2 0.09

€ : : : : : :
Tt < R TR S S S S A R

7108 -6 4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


